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ST RAD MYUS Sofl F=E XNHE 7|gz E+Y dif= =3
7

(6279 &, 63.34%)2 Jut 7t 2 HISS AKoks A= LIEHH

o o o L]
K2 2189 H(35.58%), HHE 879 &(10.48%)2= LtER
P
(134 e 221/) 22
< gl
(4460%2553,50%) ;;8 17e
879.' .?I.;l { * (62.7A &, 7.53%)
(10.48%) ’ v | o
= . (17.2%4 &, 2.07%)
(.09 & 1.32%) (3.091 g*o 36%) W23
21801 8l B i (4.4 ¥, 0.53%)
e . N
(26.18%) (87.291 ,10.48%) (22191 2, 2.65%)
e y on
5279 2 (181 %T‘2.18%) (1o.801 2!, r1 30%)
T " e
(63.34%) (16‘5%.‘;;1_98%) (80.81 &, 9.71%) $ b
- o (M7 €, 1.41%)
T &
(3.5%1 2. 0.42%)
2EH Xl CHE Ay

(4.0% 9, 0.48%)

[13 4-15] X|9E ST RAD AlY 7IE& Yo gt

929



> =7t R&D At OiH] AT R&AD AYQ| X|F9E J|gg HsH
dits +E7(46.61%)2| HISO| 7t A UEE

- X2 27.21%, HHHS 25.11%=2 LIEH

N

chid

[33 4-16] =7t R&D Al ChH| &7 R&D Alde| X|HE 7l F+H HIF

100 | 20224x Sefi7 dnEA



> ST RAD AIHS| AH| FAf O] XFE J|gs Jof HIS2
TEH(2.49%)2 Hat7t I =A LERE

- XY 1.29%, &= 0.60%=2 LEHH

> =7b R&D AtRQl ¢t =Xt TiH| X928 Jlsz dit HIS2
=EH(1.30%)2 dat 7+ =AH LEE

_ XEIS 0.81%. ThHS 0.46%2 LIER

101



(s

=7 R&D At

e )}

A|
MNE5EA 12,701 446 3.51% 51,223 769 1.50%
- QAMZHA| 7,467 63 0.84% 30,038 218 0.73%
A= 979 18 1.88% 5,410 144 2.66%
2 21,147 527 2.49% 86,671 1,131 1.30%
oy CHEHE A 14,363 87 0.61% 74,698 347 0.46%
27 14,363 87 0.61% 74,698 347 0.46%
FAFAA 1,894 12 0.62% 11,355 58 0.51%
CHT & A 1,185 22 1.86% 7,376 208 2.82%
FFZ9A 1,776 17 0.93% 5,678 56 0.99%
SUEHA 1,081 1M 1.00% 3,810 35 0.91%
SHUEENX = 955 15 1.55% 4,217 30 0.70%
Y= 1,114 17 1.55% 8,121 61 0.75%
; SEEE 1,480 " 0.74% 7,333 45 0.62%
He HEEHXXE 1,481 18 1.22% 9,759 41 0.42%
Hetd e 840 4 0.42% 4,108 23 0.55%
485k 1,441 4 0.30% 8,127 73 0.89%
ddEE 3,100 81 2.61% 20,362 157 0.77%
NFEERR = 191 4 2.07% 1,884 1 0.61%
NESEXIXIA| 328 3 0.90% 6,218 4 0.07%
2 16,866 218 1.29% 98,348 801 0.81%
A 52,376 832 1.59% 259,717 2,279 0.88%

* 8122 B2 O VISR F4 U YR ot Ei 4 U
7

B 4-0] I7H| SX} O] X TSR T

102 | 20224k SE7 424



V. DiEiRELDI=(6T) 20 Jl== dit

20224 s8l0i! R&D AKHQ| OiHRELDIE(6T) 2012 JiEs
S 2 k= IT(5082, 29.57%), BT(4732, 27.53%)
200N =2 HISZ A

Q1H| EXt [HHI S R&D AKXl 10 & JI==
&2e dik= IT 0514, BT 0412, CT 0312 =

202211 SEIIT RAD AlR! DHQUATIA(ET) 20pe 722 T4 24

oT T

AfXols A= LEHH

- LBe=2 BT(473¢d, 27.53%), ET(2567, 14.90%), NT(1647,
9.55%), ST(3974, 2.27%), CT(2474, 1.40%) == LIEf

47371 (27.53%)
25671 (14.90%)
16471 (9.55%)
3971 (2.27%)

2471 (1.40%)

2547 (14.78%)

(33 4-17] DIAFYLITIE(6T) 20FE 8T RAD Al 7iEg T+ A gt

o

50871 (29.57%)
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» =7t R&D Al CiH| 88T R&D At O|2RYL7|&(6T) =0

g 7|88 Yds Hit= ST(46.99%)2| HISO| 71 A LIt

- B2 2 NT(36.36%), IT(30.81%), BT(26.05%), ET(22.48%),
CT(18.75%) =22 LIEtE

g 30.81%
I 26.05%
e 22.48%
[N 36.36%
R 46.99%
g 18.75%

WI[3% 17.35%

[22 4-18] 27t RD Al [HH| ST RED AfRlo] N[HQUAIIA(6T) HOBE T8 B4 24 HIS

104 | 20224 Seioi7 dn2A



> SEAT R&D AIYQ AtH| FXb CiH| Oj2{YL7|S(6T) =0FE

109 29 7188 A4 Mot T0.447)2 Matvh 71 =4

- OF222 NT(0.4174), BT(0.347), CT(0.2571), ET(0.2471),
ST(0.13¢) =22 LIEtH

> =7t R&D A2l Ai7tH| FX}b CiH| D|2fRYL7IE(6T) =0FE 109
Y 7188 A dut= BT(0.352)9 Mt 7+ = Lt

- L+822 NT(0.347), CT(0.34¢4), 1T(0.33¢4), ET(0.3144),
ST(0.04¢1) =2 = LtEt

109 2

o1t = s o Jlea
g U INETI
IT 11,617 508 0.44 49,607 1,649 0.33
BT 13,892 473 0.34 52,026 1,816 0.35
ET 10,834 256 0.24 37,160 1,139 0.31
NT 4,019 164 0.41 13,343 451 0.34
ST 3,055 39 0.13 20,630 83 0.04
CT 969 24 0.25 3,807 128 0.34
7|E} 9,099 254 0.28 97,452 1,464 0.15
SHA* 53,485 1,718 0.32 274,025 6,730 0.25
* 2001Ex OO 3= WK S D|2RYMT|&(6T) 207t 2FEX| L2 LHA LMsH 7|22 Aetdss M

H 4-10] H+H| £} ] D[2{RYLT7IE(6T) 20FE 7IEE B+ U

20224 g8 dnEA | 105



A
oy

2T RAD AlY DIZHRYLTIE(6T) 201E Tz
D2HRYL7IE(E6T) =20fE 7Ie=

& 20224 8
S ZXlots 2O

e s ¥5H

> §EOIT R&D Al
4o M ET(3369 ©, 30.77%)7t 71 2 HIE
2 Uerg

- 0222 BT(2269Y &, 26.89%), IT(116Y &, 13.73%), NT(43Y
2, 5.13%), ST(7% ¥, 0.83%), CT(44 &, 0.51%) =C=

LEHE

334.9% &l (39.77%)

226.42 2 (26.89%)

115.62 & (13.73%)

43.221 €l (5.13%)

7.02 21 (0.83%)

4.3 2 (0.51%)

cT
et 110.79 & (13.14%)
117]=(6T) 20Fd 83T R&D AlY 7|28 HH Hut

[J2 4-19] D]2HQY

106



» =7t R&D Al CiH| 88T R&D At O|2RYL7|&(6T) =0

g 7188 YU Mit= ET(49.55%)2 HIZ0| 7H& =4 LIEHH

- OB22 BT(29.72%), ST(28.94%), 1T(28.45%), NT(25.67%),
ST(28.94%) == LIEfH

I3 49.55%
=Y 29.72%
e 28.45%
pJI3% 28.45%
NI 25.67%
SYE 28.94%

ol 15.65%

[23 4-20] =7t R&D Al CiH] 88T RAD Al DZHRYLITIE(6T) EO0HE 7l H+ HIS

20224E 8817 g2 | 107



St

(@)
=

2
=

T R&D At SiH| Xt CHH| DI2HRYULT|E(6T) Z0rE
A1t HIEZE2 ET(3.09%)7t 748 = LIEHE

- L322 BT(1.63%), NT(1.07%), 1T(1.00%), CT(0.44%),
ST(0.23%) =2=% LiEtd

» =7t R&D AtYQ| HTH| EXt CHH| O2iRUAT7|=(6T) 20
7122 M1 HEE ET(1.82%)7F 718 A4 LiEte

- L322 BT(1.46%), NT(1.26%), 1T(0.82%), CT(0.72%),
ST(0.12%) =22 LIEtH

AT R&AD At

22 s
o1zt IEE ooy
e

IT 11,617 116 1.00% 49,607 406 0.82%
BT 13,892 226 1.63% 52,026 762 1.46%
ET 10,834 335 3.09% 37,160 676 1.82%
NT 4,019 43 1.07% 13,343 168 1.26%
ST 3,055 7 0.23% 20,630 24 0.12%
CT 969 4 0.44% 3,807 28 0.72%
7|Et 9,099 1M1 1.22% 97,452 389 0.40%
A 53,485 842 1.57% 274,025 2,453 0.90%

* 20014 O[H0| 3 oAl S DIAHRYUTIEET) 207t 2REA| 2 MMM 2l 7igs J+des MY

* EI8E B2 o) J1BE Y4Ol U ¥R At ENE & U

E 4-11] 74| £Xt CHH| DI2HRYLT7IE(6T) 201E 7iee T4

108 | 20224k SE7 424



20224 §aloi! R&D AKHE Soll 2reist Alet 2=
3,079Z1C= [IFA, ML, S4JIE, XS, ITHA S1E Fx

ol

¢ 20229 SEET R&AD At Atist Mat

» SEIGIT RAD AMQ| EX} CHH|(BE 3,4859 &, 15,6972) Aliat
AMX2 O17H| 10 Y 0.5871, FRMAY 0.2021C2 LIEH

="

- =7t R&D Arge FAt CHH|(28X 6,782% 2, 76,05271) Atst
dit= 109 HE 0.94, AFMAY 0.35712= LErH

1 =O

e
53,485 15,697 3,079
R&D ArA
=27t
286,782 76,052 26,966 0.94 0.35
R&D At

H 4-12] 2022'3 Atist Hat

20224 S8 dnEA | 109



| X8 Al it

S8i017 RAD AlS St HEE BN Alist AXe

=
CIfXIF 25.07%, &E2It 24.78%, BHIIZSEIL
16.34%= XX

rr

OiHl Xt CHHI BAME A2t 109 2 Ale) 2+
SR 4.862, SAER 2.832A =

>

/
*

2022 AT R&AD AlY FXE AtYs}t gt

*
» SYHT R&D AtE Solf FEE FXME At Hit= CHEX(772
A, 25.07%)2 4147t 7t& 2 HIES RHK[ots A= LiEHE
CHEA 77271 (25.07%)

76371 (24.78%)
50371 (16.34%)

29771 (9.65%)

23071 (7.47%)

20571 (6.66%)

6871 (2.21%)

6571 (2.11%)

4971 (1.59%)

1874 (0.58%)

10971 (3.54%)

(23 4-21] 38 SHAT RAD AR Atist 214
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> =7t R&D AF HiH] ST R&D ML FAHE AtFst dit=
CHEXME HMQ*stl ZEE(62.16%)2| HIFO0| 71& =AH LIEHS
* OHRA Fo] =7F R&D A2 BF 88U R&D AMIS R EF7

- 202 WRH(37.78%), SAEH(37.61%), ailE(32.50%),
7| MEE(28.64%), 2X|E(27.69%), AAE(9.18%),
sTIHB.08%), B715(2.72%) =22 LIEtH

W=PIW 100.00%

76371/ 8,309
503 /1,756

29771/10,9237

IAEpEL 23071 / 3707
SUFMUNESR 2057 / 545
mE=1=1 6871 /1807
CIEIEFIER 32.50% 6571 / 2002
sETSH 497 [1,592A
2H=XF 1871 / 65
Z[Et 109 / 2,254

[O23 4-22] 27t RAD At CHH| &7 R&D AtYel FXE Alds} 2 HIF
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» SECIT RED ARl HTH| EX CiH| 109 RY B At
Nt 5

7|5(4.8624)2 a7t JHE = LIEE

- 022 sAEH(2.83%), s71F(1.2671), AHF(1.247),
=EL(0.8471), THEX(0.837), ali=£(0.35¢), W<SL(0.287),
W7 |HEL(0.2371), EXE(0.197) =22 LIELH

> =7b R&D AtRQl ¢i-H| FXt THH| 109 EE 2XE Atget

Nits 57|18(6.3220)9 M7t 718 & LIEH

- 0222 sAEH(2.057), s71(1.9671), AHE(1.647),
CHREX(0.837), =EE(0.6671), 2t7|HEL(0.207), aheH(0.247),
2XE(0.10), WLL(0.08H) =22 LIEtH

=L S 109 g
At st
7%
Chex] 9,252 772 0.83 9,252 772 0.83
Mejg 6,135 763 1.24 50,675 8,309 1.64
WIYSE 21,646 503 0.23 89,089 1,756 0.20
=718 612 297 4.86 17,296 10923  6.32
2EL 2,732 230 0.84 5,622 370 0.66
SAES 724 205 2.83 2,662 545 2.05
=t 2,458 68 0.28 23,904 180 0.08
St 1,882 65 0.35 8,370 200 0.24
s 388 49 1.26 8,124 1,592 1.96
SX8 960 18 0.19 6,224 65 0.10
7|E} 6,696 109 0.16 65564 2,254 0.34
g 53485 3,079 0.58 286,782 26,966  0.94

H 4-13] H7H| £Xt ] 2XE A}

112 | 20224 SE7 424



ANEEHZE AlHbzh St

20224 8IS R&D AIHO| A-JHEEHE Alet Sik=
JHEI(72.91%) EfHIGIAM JFE 20| 2

QiH| X CHHI S-DHRCHHIZE 10 21 Alget dik=
2, 880217 0.502, JIX%+ 0.062 =

2022415 SBIAT RAD AlY HTHLEDAE st A}
> SEOIT RAD AYS Sof HEE AU

(2,245, 72.91%)0M
753574, 17.38%), 7|Z=¢74(10074, 3.25%)

H
Hg 2 HISE AiKlot=

- Heez S89

== LY

2,2457 (72.91%)

53571 (17.38%)

10071 (3.25%)

19971 (6.46%)

[73 4-23] SHLTAE SBHT RAD Al Aat 214
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» =7t R&D At OiH] ST R&AD AHS| AHUTAE AtHst
Aot HIZ2 712H7(16.50%)2| HISO0| 718 =A LIEMH

- 3oz 38U+(13.63%), /NLAT(11.46%) =22 LIEHH

bI[=% 6.98%

(2% 4-24] 37} R&D AlR) THH| ST RAD AYQ| SHHUEIAE AQIaH 244 HIS

114 | 202249x Sei7 dn24



> 83017 R&D A AAH| X} O] AT 109 R
ARISE MTH HHIT(1.0170)0) HBTE THE BA| LiEr

- 22z 38%7H0.504), 7|=A+0.067)) =22 UEH

> =7b R&D AtQl ¢+t F=Xt TiH| SAWEEHAZE 10 HY
AtRlat diks JHES(2.02A4)2] datvt IR = LIEE

- 32z 38¢%7H0.754), 7I=870.107) =22 UEH

A
7|=A+ 16,070 100 0.06 58,024 606 0.10
8¢+ 10,617 535 0.50 52,338 3,926 0.75
HYATF 22,251 2,245 1.01 97,032 19,582 2.02
7|Ef 4,547 199 0.44 79,388 2,852 0.36
A 53,485 3,079 0.58 286,782 26,966 0.94

E 4-14] G-H| £Xp OfH] SHETAE Adst A4
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[, AFALHFHE Atz St

20224 eI R&D AIHE Soll 2rdist Alst 210|
54.01%7} SATIEHHM B

Qi-H| XAt CHHI 10ﬁ 2E Alget 2
2718 1.502 &

X/

¢ 202291 AT R&AD MY AAlFHE Arget dut

> BT RAD MYUS Sof FEE ALY
S47|9(1,663%, 59.109
HOZ LiEty

S

- OEe2 EUATAA(A274, 13.87%), 77124014, 13.02%),
CHek(3137, 10.17%), S ZEAFAGE6H, 1.17%), U71¥8(134,
0.42%) == LIEtE

42771 (13.87%)

40171 (13.02%)

3137 (10.17%)

367 (1.17%)

22671 (7.34%)

[12 4-25] APLHTHE SHAT RED Al Aleist 244
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1,66371 (54.01%)



» =7t R&D At I:H|=|| ST R&D At
Aot HEZ2 EAATA(33.39%)2 HISO0| 71 =A LEtH

- L322 SH71™(27.54%), CHek(10.52%),

o AAAFME AHst

S47|2(9.83%),

CH712(8.84%), =SEATA(2.79%) &L= UEH

EE il B9.83%

¥[8 10.52%

SLEES 2Ua

bII=R 7.77%

[32 4-26] 27 RRD Al CHH| 8817 R&AD AfiQ

APLUTAEY MRSt 2% HIF

20224E 887 duEA | 117



> ST RAD AIHO| A H| FAb O] ArsAFAE 109 HE
Arat gt S147198(2.08A)2| HISO0| 7HY A LiEHH

- 2oz 3A7(%9(1.507), =3EHHETEA(0.317),
SAHHTA(0.2571), HeH(0.197), tH7|¥(0.1071) == LiEtH

» =7b R&D AtQl ¢+t =Xt TiH| SRslFHE 10 HY
Algst git= SA7[(3.087)2 HISO0| 71E =2 LIEtH

- O8o2 ZZEHATRA(0.9971), S77|1(0.787), THSH0.4374),
CH718(0.2571), EAHTEA(0.1271) =22 LtEHH

S27|Y 11,053 1,663 1.50 54,924 16,909 3.08
EQAAA 17,090 427 0.25 103,737 1,279 0.12
U7 1,924 401 2.08 18,716 1,456 0.78
CHst 16,712 313 0.19 69,738 2,974 0.43
=S 1,147 36 0.31 13,024 1,291 0.99
CH7 1 1,357 13 0.10 5,889 147 0.25
7|Et 4,202 226 0.54 20,754 2,910 1.40
A 53,485 3,079 0.58 286,782 26,966 0.94

[E 4-15] Q7H| EX} CHH| GIp48izRE Al 244

118 | 20224k SE7 424



V. X2 Al it

20224: el

QiH| Xt [HH| XIS SElP

Xt =O
O ITi-

i1
=T

2 Aget dik= X 0.934, £ 0.552, X 0.18AH =

R&D AKHQ| RIE Azt He= XIE0I
52.47%= Jt

o

HISE A
R&D Algo= H=El 104

¢ 202249 E AT RAD AIY XIHE Afeist

» SEAT R&AD Agls Sl &=
7

2, 62.47%)0] 7t 2 HIZS Aotz A2=Z LiEHd

- SEU
2637
(8.82%)
1,56474
=y 11547
22 7%) (38.71%)
Rl N ch

[O3 4-27] X|9E &

A ﬂl-

K98 Atglet diob= X|1%(1,564

1,15471(38.71%), T2 26371(8.82%)2= LIEIH

R
(437, 1.44%)

L Ne .
(60271, 20.19%) 3

(8571, 2.85%)

sl
(10174, 3.39%) M”ﬂi

=

§ .
2 0.57% =
F wr/) (6971, 2.31%)
] N G
e o 2637, 8.82%) (997, 3.32%)
s e )
(14371,:4.80%) ’,f*ﬁ\ DAy s
» < ‘fzoozjgrm) (797, 2.65%)

e
Jssm, 11.98%)

(83, s.

)

S ¢
4 SnEE
I T{T%x

RES
(13171, 4.39%)

ST R&D ALY Aldst
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> =7t R&D At OiH] ST R&AD AtYQl X|HE Atglet dib=
=z H(14.67%)2 HISO| 7t = LEHE

- XNY2 11.16%, W2 13.14%= LEY

PNER 14.67%

TR 13

[22 4-28] 227} R&D AKY CHH| 51971 R&D AXO| X[ Alish 744 HIS

120 | 20224 S8loi7 A=A



» SECIT RED ARl TH| EX CHH| XIojE 109 AY At
NIt XI2(0.932)9 ST} K S LiEk

- #EH2 0.564, ™2 0.18U2=2 HEHY

> =7b R&D AtRel G-t F=Xt THH| X[HE 10 A Atget

dit= XY(1.432)9] HIFSO| 7+ =A UEH

- FEH2 0914, 2 0.27H22 HUEHY

121



(S o &, )
=7 R&D At

A|
MNE5EA 12,701 602 0.47 51,223 3,709 0.72
- QAMZHA| 7,467 479 0.64 30,038 3,670 1.22
47|= 979 73 0.75 5,410 488 0.90
2 21,147 1,154 0.55 86,671 7,867 0.91
oy CHEHE A 14,363 263 0.18 74,698 2,002 0.27
27 14,363 263 0.18 74,698 2,002 0.27
FAFAA 1,894 357 1.89 11,355 1,744 1.54
CHT & A 1,185 99 0.84 7,376 999 1.35
FFZ9A 1,776 163 0.92 5,678 1,158 2.04
SUEHA 1,081 79 0.73 3,810 366 0.96
SHUEENX = 955 43 0.45 4,217 958 2.27
Y= 1,114 85 0.76 8,121 947 1.17
; SEEE 1,480 101 0.68 7,333 1,243 1.70
He HEEHXXE 1,481 143 0.97 9,759 1,614 1.65
Hetd e 840 77 0.92 4,108 1,524 3.71
485k 1,441 69 0.48 8,127 878 1.08
ddEE 3,100 200 0.65 20,362 1,691 0.83
NFEERR = 191 131 6.85 1,884 727 3.86
NESEXIXIA| 328 17 0.52 6,218 180 0.29
2 16,866 1,564 0.93 98,348 14,029 1.43
A 52,376 2,981 0.57 269,717 23,898 0.92

* NYEEI 7 |EHEMUSAE0 RNG2R7L 27F5)2 did= YHE A S XH0| EREA g2
TPA[Of A et AfRisH AX2 M2
[E 4-16] H+H| EX} CiH] X AjHSt Hat

122 | 20224x SE7 424



V. D2iRELDI=(6T) 2012 At

20224 sel0i! R&D AKHQ| OiRHRELDI=(6T) 202 At
dik= IT 20D 30.40%= JIE =2 HISZ XX

9iH| Xt [HHI 6T 202 10 2 Alet 2e=
CT 1.032, IT 0.812, ET 0.632 =

20224 el R&D AlY DIHRYLITIE(6T) 20KE Atst 2

L X 4

> ST R&AD AEE Soff HEE DliK[YL7I=6T) Z0rE Argist
A

k= 1T(9362, 30.40%)2] HISO0| 7HY &2 A= LEH

- OEe=2 BT(730¢, 23.71%), ET(6837%, 22.18%), NT(1507,
4.87%), CT(10074, 3.256%), ST(48%, 1.56%) =2= LIiEfd

93671 (30.40%)

73071 (23.71%)

68371 (22.18%)

15071 (4.87%)

10071 (3.25%)

43271 (14.03%)

[ 4-29] DIAHFYLIVIE(6T) EO0FE STAT RAD AMY Atet gt
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> =Z7b R&D At CHH| 8&AT R&AD Arel O|2HRAULT|E(6T)
SO0FE AtRist Mt HIEZ2 ET(15.77%)2 HISO| 74a =4 LiEtH

- 822 ST(15.24%), IT(13.61%), BT(11.89%), NT(11.67%),
CT(10.83%) =22 LIEtH

g 13.61%
BT RiE:EA
[, 15.77%
N 11.67%
(o 10.83%
ST WEWENA

pIIS® 6.09%

[22 4-30] =7t RAD ALY ChH| &7 R&D AtHC| DIZHRALTIE(6T) 20FE AlEt 2= HIS

124 | 2022uE ggioin AN



0]

2T R&D ArQl ¢itH| F=Xb O] D2iRY M7|&(6T) 20rE
0 2T Alet git= CT(1.03A)7t 718 =A LErH

—

- OF2o2 IT(0.817), ET(0.6371), BT(0.537), NT(0.37%),
ST(0.16) =92 LIEtH

» =7t R&D AtRQl A7tH| £Xt CHH| Dj2HRY A7|&(6T) 20FE
109 Y AISH Mub= CT(2.427)7t 718 =H LtEH
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IT 11,617 936 0.81 49,607 6,877 1.39
BT 13892 730 053 52026 6138  1.18
ET 10,834 683 0.63 37,160 4,331 1.17
NT 4,019 150 0.37 13,343 1,285 0.96
CT 969 100 1.03 3,807 923 2.42
ST 3,055 48 0.16 20,630 315 0.15
JEF 9009 432 047 97452 7,097  0.73
A 53,485 3,079 0.58 274,025 26,966 0.98
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